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Jooodon Jooodo 10 P
H{ = good, Hy = good 1 —0.37 < 0.001
H{ = good, Hg = private 1
H{ = good, H7 = man 1
H{ = good, H7 = woman 1
H{ = good, Hg = not live alone 1
H{ =no, H; = bad 2 0.76  0.003
Hr = bad, Hg = professional 2
H{ = no, Hg = private 3 0.33 < 0.001
H{ = no, Hg = professional 3
H{ = bad, H7 = woman 3
H{ =no, H; = woman 3
Hr = bad, Hg = live alone 3
Hg = professional, H7 = man 3
Hg = professional, Hg = live alone 3
Intercept Not grouped —1.82 < 0.001
Hs Not grouped 0.034 < 0.001
H, Not grouped  0.000029 0.38
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